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Pearson Edexcel Centre Number Candidate Number
International GCSE m [jjj:]
Mathematics A
Level 1/2

Paper 1F =3
Foundation Tier

Thursday 24 May 2018 - Morning Paper Reference
Time: 2 hours 4MA1/1F

You must have: Total Marks
Ruler graduated in centimetres and millimetres, protractor, compasses,
pen, HB pencil, eraser, calculator. Tracing paper may be used.




 
Instructions

· Use black ink or ball-point pen.

· Fill in the boxes at the top of this page with your name, centre number and 
candidate number.

· Answer all questions.

· Without sufficient working, correct answers may be awarded no marks.

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· You must NOT write anything on the formulae page.

Anything you write on the formulae page will gain NO credit.

Information

· The total mark for this paper is 100.

· The marks for each question are shown in brackets

– use this as a guide as to how much time to spend on each question.
Advice

· Read each question carefully before you start to answer it.

· Check your answers if you have time at the end.
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International GCSE Mathematics
Formulae sheet – Foundation Tier



Area of trapezium = 1
2



(a + b)h



b



a



h



Volume of prism = area of cross section u�length



cross 
section



length



Volume of cylinder = ʌU2h



Curved surface area of cylinder = 2ʌUK



U



h
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International GCSE Mathematics

Formulae sheet – Foundation Tier

Area of trapezium

 = 

1

2

(

a

 + 

b

)

h

b

a

h

Volume of prism

 = area of cross section  length

cross 

section

length

Volume of cylinder

 =  2

h

Curved surface area of cylinder 

= 2

h


Answer ALL TWENTY ONE questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
Question 1

5
(a)
Simplify
6x + 8x − 3x

.......................................................

(1)
(b)
Simplify
4e × 5f

.......................................................

(1)
(c)
Solve
8p = 24

p = .......................................................

(1)
(d)
Solve
k – 4 = 13
k = .......................................................

(1)
(e)
Simplify
10t + 4d − 3t + 2d

.......................................................

(2)
(Total for Question 5 is 6 marks)
____________________________________________________________________________

Question 2

9
You can use this graph to change between temperatures in degrees Celsius (°C) and

temperatures in degrees Fahrenheit (°F).
[image: image3.emf]
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9 You can use this graph to change between temperatures in degrees Celsius (°C) and 
temperatures in degrees Fahrenheit (°F).



°F



°C



100



80



60



40



20



Oí10 10 20 30 40



 The temperature in Dubai on Monday increased by 20 °C from midnight to midday.



 (a) What is this temperature increase in degrees Fahrenheit?



.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  °F
(2)



 Maninder says,



“30 °C is the same as 86 °F, therefore 60 °C will be the same as 172 °F.”



 (b) Is Maninder correct?
  Give a reason for your answer.



.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



(1)



(Total for Question 9 is 3 marks)
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9   Y o u   c a n   u s e this graph to change between temperatures in degrees Celsius (°C) and  t e m p e r a t u r es in degrees Fahrenheit (°F).

°F

°C

100

80

60

40

20

O

10 10 20 30 40

  T h e   t e m p e r a

t

ure in Dubai on Monday increased by 20 °C from midnight to midday.

  ( a )   W h a t   i s  this temperature increase in degrees Fahrenheit?

.........................

.

... . . . . . . . . . . . . . . . . . . . . . . . . . .  

° F

( 2 )

  M a n i n d e r   s ays,

“30 °C is the same as 86 °F, therefore 60 °C will be the same as 172 °F.”

  ( b )   I s   M a n i nder correct?

    G i v e   a   reason for your answer.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ............................................................................................................................................................................... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ............................................................................................................................................................................... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

( 1 )

(Total for Question 9 is 3 m a r k s )


The temperature in Dubai on Monday increased by 20 °C from midnight to midday.

(a)
What is this temperature increase in degrees Fahrenheit?

....................................................... °F

(2)
Maninder says,

“30 °C is the same as 86 °F, therefore 60 °C will be the same as 172 °F.”

(b)
Is Maninder correct?

Give a reason for your answer.

.........................................................................................................................................................
.........................................................................................................................................................
(1)
(Total for Question 9 is 3 marks)
____________________________________________________________________________

Question 3

16
(a)
Simplify
y5 × y9
.......................................................

(1)
(b)
Simplify
(2m3)4
.......................................................

(2)
(c)
Solve
5(x + 3) = 3x − 4
Show clear algebraic working.

x = .......................................................

(3)
(d)
(i)
Factorise
x2 + 2x − 24
.......................................................

(2)

(ii)
Hence, solve
x2 + 2x – 24 = 0
.......................................................

(1)
(Total for Question 16 is 9 marks)
____________________________________________________________________________

Question 4

17
Here is a Venn diagram.

	E
	[image: image4.emf]
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17 Here is a Venn diagram.



6



E



A CB



4



2



12



1



3



11



7



9



5
10



8



 (a) Write down the numbers that are in the set



  (i) A



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 



  (ii) B � C



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 



(2)



 Brian writes down the statement  A � C = Ø



 (b) Is Brian’s statement correct?
  You must give a reason for your answer.



.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .



(1)



 One of the numbers in the Venn diagram is picked at random.



 (c) Find the probability that this number is in set C މ



. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 



(2)



(Total for Question 17 is 5 marks)
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1 7   H e r e   i s   a   Venn diagram.

6

E

A C B

4

2

12

1

3

11

7

9

5

10

8

  ( a )   W r i t e   down the numbers that are in the set

    ( i )  

A

....................................... . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

    ( i i )  

B

   

C

....................................... . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

( 2 )

  B r i a n   w r i t es down the statement  

A

   

C

 = Ø

  ( b )   I s   B r i an’s statement correct?

    Y o u   m ust give a reason for your answer.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ...

.

................................................................................................................................................................................. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ...

.

................................................................................................................................................................................. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

( 1 )

  O n e   o f   t h e numbers in the Venn diagram is picked at random.

  ( c )   F i n d   t h

e

 probability that this number is in set 

C

 

............ . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

( 2 )

(Total for Question 17 is 5 mar k s )




(a)
Write down the numbers that are in the set


(i)
A

....................................................................


(ii)

[image: image5.emf]


 B∪C










 

BÈC


....................................................................

(2)
Brian writes down the statement 
[image: image6.emf]


 A∩C










 

AÇC

 = Ø

(b)
Is Brian’s statement correct?

You must give a reason for your answer.

.........................................................................................................................................................
.........................................................................................................................................................
(1)
One of the numbers in the Venn diagram is picked at random.

(c)
Find the probability that this number is in set C′
.........................................

(2)
(Total for Question 17 is 5 marks)
____________________________________________________________________________
Question 5

19
(a)
On the grid, draw the graph of
y = 2x + 3
for values of x from −2 to 3.
[image: image7.emf]
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19 (a) On the grid, draw the graph of  y = 2x + 3  for values of x from í2 to 3



10



9



8



7



6



5



4



3



2



1



O



í1



í2



í3



321í1í2



y



x



(3)



 (b) Show, by shading on the grid, the region that satisfies all three of the inequalities



x - 2     y . 1     y - 2x + 3



  Label the region R.
(2)



(Total for Question 19 is 5 marks)
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1 9   ( a )   O n   t h e   g r i d , draw the graph of  y = 2x + 3  for values of x from 2 to 3

10

9

8

7

6

5

4

3

2

1

O

1

2

3

3 2 1 1 2

y

x

( 3 )

  ( b )   S h o w ,   b y   s hading on the grid, the region that satisfies 

all three

 of the inequalities

x

   2         

y

   1         

y

   2

x

 + 3

    L a b e l   t h e   r egion 

R

.

( 2 )

(Total for Question 19 is 5 m a r k s )


(3)
(b)
Show, by shading on the grid, the region that satisfies all three of the inequalities

	x ⩽ 2
	y ⩾ 1
	y ⩽ 2x + 3


Label the region R.

(2)
(Total for Question 19 is 5 marks)
____________________________________________________________________________

Question 6

8
(a)
Find the value of
25 – 4g when g = –3

.......................................................

(2)
(b)
Expand and simplify
x(2x + 1) + 3(x – 2) + 7

.......................................................

(3)
(Total for Question 8 is 5 marks)
Question 7

18
(a)
Make a the subject of the formula
M = ac – bd

.......................................................

(2)
(b)
Solve the inequality
5x – 4 < 39

.......................................................

(2)
(c)
Factorise fully
18e2 f 3 – 12e3 f

.......................................................

(2)
(Total for Question 18 is 6 marks)
____________________________________________________________________________

Question 8
20
Show that

[image: image8.emf]


 
34



7
−15



8
= 153



56










 

3

4

7

-

1

5

8

=

1

53

56


(Total for Question 20 is 3 marks)
____________________________________________________________________________

Question 9

24


[image: image9.emf]


 



8
27










 

8

2

7

 = 2n
(a)
Find the value of n.

n = .......................................................

(2)
(13–6)4 × 135 = 13k
(b)
Find the value of k.

k = .......................................................

(2)
(Total for Question 24 is 4 marks)

TOTAL FOR PAPER IS 46 MARKS
Marking Scheme

Question 1

[image: image10.png]1lx 1 Bl

20ef 1 Bl
3 1 Bl
17 1 Bl

Tt+6d 2 B2 BI for 7t or (+) 6d





Question 2

[image: image11.png]Two readings from graph 20°C apart 36 M1
eg. readings from 0°C (30 — 34 °F) and 20°C (66
~70 °F)
Al accept answer in range 34 — 38
No with Bl e.g. graph does not go through (0,0) (accept 0) or
explanation temperatures in °F are not proportional to

temperatures in °C or gives counter example that
doubling does not work or 60°C is the same as 140°F
(135 — 145) or 15°C is not 43°F





Question 3

[image: image12.png]a 1 1 Bl
b 16m" 2 B2 if not B2 then
B1 for am' or 16m” or 2*m'> b#0,12 a#1.16
c Sx+15=3x-4 or 19 3 M1  for removing bracket in a correct equation or dividing
3= 3x 4 -5 % all terms by 5 in a correct equation
75 0s
eg Sx—3x=—-4-15 2 Ml ft fromax + b = cx +d for correctly isolating terms in x
on one side of equation and constant terms on the other
side
Al dep on at least M1
d(@) Ml for (x + a)(x + b) where either ab=—24 ora + b=+2
eg (x—6)(x+4)
(x—4)(x+6) Al
(i) 4,-6 1 Bl cao or ft from any (x + p)(x + q)





Question 4

[image: image13.png]ai

ail

1,2,3,4.6.12

1,3,5,7,9,10, 11

cao

cao

Yes with reason

e.g. no numbers in both 4 and C or 4 and C do not
intersect or 4 and C do not overlap or 4 and C are
mutually exclusive

QOC

12

for 12 -2 (=10) or % witha <12 or
10 and 12 used with incorrect notation E.g. 10 : 12

for %oe or 0.83(3...) or 83(.3.)%





Question 5

[image: image14.png]B3
B2

Bl

Ml

Al

For a correct line between x = —2 and x =3

For a correct straight line segment through at

least 3 of

2.-DELD0.3) (1.5 2.7 (3.9

OR

forall of (2,-1) (-1,1)(0,3)(1.5) (2. 7)

(3, 9) plotted but not joined

For at least 2 correct points plotted or stated
(ignore incorrect points)

OR

for a line drawn with a positive gradient

through (0, 3) and clear intention to use a

gradient of 2

(eg. a line through (0, 3) and (0.5, 5)

OR a line drawn with a gradient of 2

forx=2and y =1 drawn
for correct region identified

NB: Region may be unshaded or shaded,
condone missing label





Question 6

[image: image15.png](a) 25-4x -30r25-—-120r 25+ 12 M1  Correct substitution
37 Al
(b) 2x2 + X M1
(+)3x -6 M1  indep
2x2 +4x+ 1 Al cao

Total 5 marks





Question 7

[image: image16.png](a)

ac=M+bd or -ac = —M - bd or
M n—ﬂ

c c

M1

For a correct first stage

M+bd
a=

Al

bd
oe,eg a=—+—,
c c

—M —bd
=
—C
[must have been seen with a =
to award accuracy mark]

(b)

5x<39+4 oe

M1

Accept as equation or with the
wrong inequality sign. Also
award M1 for an answer of 8.6
or 8.6 with an = sign or the
incorrect inequality sign.

x<8=

Al

43
Accept ,\'<? or x<86 or

[~o, 8.6)

(c)

eg 66’ (3f° —2¢f), eg 21 (9’ f* —6¢°)
eg ef (18¢f> —12¢%)

M1

Any correct partially factorised
expression with at least 2 terms
in the common factor or for the
correct common factor and a 2
term expression inside the
brackets with just one error

6e’f(3f*2e)

Al

Total 6 marks





Question 8

[image: image17.png]25 13 M1  correct improper fractions or two
7 and 3 improper fractions with a common
denominator, at least one correct
200 91 8x25 7x13 M1  two correct fractions with a
56 567 56 36 common denominator
109 153 correctly shown Al  dep on M2 with sight of the result
or C se 109 53
56 56 of the subtraction eg —and 1—
109 109 56 56
Or ——with RHS shown as — 53 109
56 56 but allow showing that 1= = —
56 56
on RHS in working
Alternative method
32 35 M1 two improper fractions with a
eg (3)?67(1)?6 common denominator, at least one
- - correct
3 M1  correct subtraction of fractional
736 parts
correctly shown Al dep on M2 with sight of the result
109 3
of the subtraction eg — or 2—
56 56
Alternative method
32 35 M1  two correct fractions with a
eg 31—~ common denominator, at least one
56 56
N N correct
288 135 M1 complete correct method
5656
correctly shown Al dep on M2

Total 3 marks





Question 9

[image: image18.png]a 3 2 M1
@ 2 or 227 or zLor( GamllG 2%)

7
-4 Al Accept 27

(b) 137%x13° 2 M1 for 13 orfork=-6x4+5
—19 Al Accept 137"

Total 4 marks
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